RESOLUTION NO. 28-08 CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER John Beals ON THE 2/5+ DAY OF July , 2008.

A RESOLUTION ACCEPTING THE BID SUBMITTED BY L. J. DEWEESE CO., INC. OF TIPP CITY OHIO FOR THE STUBBS PARK PEDESTRIAN BRIDGE REPLACEMENT AND PATH PAVING PROJECT - 2008 (PROJECT # BI-01-08) FOR THE CITY OF CENTERVILLE AND AUTHORIZING THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the Stubbs Park Pedestrian Bridge Replacement and Path Paving Project according to specifications prepared by the City, and

WHEREAS, L. J. DeWeese Co., Inc. of Tipp city, Ohio was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by L. J. DeWeese Co., Inc. of Tipp City, Ohio marked as Exhibit "A" attached hereto and made a part hereof is hereby accepted in the bid amount of \$85,800.00 plus \$4,200.00 for contingencies during construction for a total amount approved of \$90,000.00. The City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

Section 2. This Resolution becomes effective upon its adoption.

PASSED this $\frac{2/5+}{}$ day of ${}$	duly , 2008.
Mayor,	McG Kineael, City of Centerville, Ohio
ATTEST: Debra a James Clerk of Council, City of Centerville, Ohi	o
CERT	<u> </u>
	cil of the City of Centerville, Ohio hereby rect copy of Resolution Number <u>28-08</u> ville, Ohio on the <u>2/s/</u> day of
C	Debra a. James Terk of Council

Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney

BIDDERS PROPOSAL

STUBBS PARK PEDESTRIAN BRIDGE REPLACEMENT AND PATH PAVING PROJECT - 2008

Submitted by: LJ. DeWelse Co. Lac.
Contractor Name, please print
Having read the specifications and examined the drawings included herein:
Stubbs Park Pedestrian Bridge Replacement and Path Paving Project - 2008 City of Centerville, Ohio
for the construction of said project in Centerville, Ohio, and having also taken into account addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, specified and described in the said Specifications and as shown in the Plans for the said work, for t following sums:
A. STATEMENT BY ALL BIDDERS:
The receipt of the following Addenda to the Contract Document (drawings as specifications) is hereafter acknowledged.
Addenda No Date
Addenda No Date
B. COMPLETION DATE INFORMATION The bid price reflected above represents a completion date of November 1, 2008.
C. CONSTRUCTION COST INFORMATION (breakdown required)
The bid shall be broken down as follows and the grand total shall be the sum of all items
↓ ↓ ↓ ↓

PROJECT NAME: STUBBS PARK PEDESTIAN BRIDGE REPLACEMENT & PATH PAVING-2008 PROJECT NUMBER: BI-IA-08

THE CITY OF CENTERVILLE MATERIAL AND CONSTRUCTION SPECIFICATIONS ARE PART OF THIS PROPOSAL AND MAY BE REFERENCED FOR A MORE COMPLETE DESCRIPTION OF THE ITEMS LISTED. RETURN ONE (1) FILLED-IN COPY OF PROPERLY SIGNED PROPOSAL TOGETHER WITH THE EXECUTED FORMS.

REF.	SPEC.		EST'D		UNIT	AMOUNT	
NO.	NO.	DESCRIPTION	QUANT	UNITS	PRICE	BID	
1	Spec	Remove and dispose of existing bridge	5	EA	300	1500	
2	Spec	Furnish and install bridge #11, 5' wide, clear span	1	EA	13975.	13975	
3	Spec	Furnish and install bridge #12, 5' wide, clear span	ı	EA	13975.	13975.	
4	Spec	Furnish and install bridge #19, 5' wide, clear span	1	EA	13975	13975.	
5	Spec	Furnish and install bridge #24, 5' wide, clear span	1	EA	13975.	13975-	
6	Spec	Furnish and install bridge #28, 5' wide, clear span	1	EA	13975.	13975	
7	201	Clearing and grubbing	1	Lump	4317,75	4217.	اللا
8	201*	Tree removal, 12" - 18", including stump	2	EA	50.	100]
9	201*	Tree removal, 18" - 24", including stump	2	EA	100	200, -]
10	203	Excavation - new paths and pads	29	CY	50.	1450.]
11	203	Subgrade compaction - ex. Paths for paving	220	SY	3	660.]
12	304	Aggregate Base (crushed limestone) for pads and paths	24	CY	100.	1440]
13	304*	Aggregate Base (crushed limestone) for undercutting	10	CY	30	300	
14	448	2" Asphalt Concrete, Type 1 Surface Course, PG 64-22	17	CY	200, -	3400	1
15	Spec	Topsoil, seed, and mulch restoration	t	Lump	2500.5	2500	1
16	Spec	Construction lay-out staking	1	Lump	158.	158.	1
	9	Grand total				85 800.—	VO

^{*} Contingency item to be used at the direction of the City

CONTRACT PREPARATION INFORMATION

The bidder shall supplement the proposal by supplying the following information for use in	the preparation of the Contract.		
COMPANY: L.T. Dewlesse, Comc.	COMPLETION DATE: DEC. 1,2008		
BY:	,		
TITLE: PRESIDENT			
ADDRESS: 310110 TIPP- COWLESUILLE Rol.	•		
Supp Cite, Onio 45371	'		
PHONE: 937-440-1736	§ 5	*	
FAX: 937-440-0745	<u>*</u>		
FEDERAL TAX ID:	N 5-		
EXECUTION OF PROPOSAL	6		
NOTE: Failure to signt the proposal shall result in rejection of the bid.			
THIS PROPOSAL SUBMITTED BY: L.J. DEWELDE CO. M.C.			
MAME OF CONTRACTOR	E 34		
SIGNATURE:			
DATE: 2008	1		
Contact person for contract processing: 11 m Herch			
Mailing address if different from above:			